LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G110VK/1

Ne ApTUKYA HavmeHoBaHwue K-Bo Ne ApTUKYA HavmeHoBsaHue K-eo
1 11310-Z2350330-00A0 | Kaptep 1 5 11333-2350120-00A0 KpbllWwKa KnanaHa canyHa 1
2 90682-2250110-0000 | CanbHUK BepxHUit 23x35x7 1 6 11332-2350110-00A0 MpoKnagKa KpbILLKK 1
3 17004-2350120-00A0 | LnaHr canyHa 1 7 11321-7350110-00A0 KnanaH canyHa 1
4 90007-0512-A1 bont M5x12 3 8




LramMpPIoN
Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G110VK/1

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 11411-7350210-0000 KpblwKa KapTepa 1 8 90007-2350210-0000 bont 2
2 380650335-0001 CanbHUK HUXKHUI 25x38x7 1 9 16400-2350210-00A0 | PerynaTop o6opotos 1
LeHTPOo6EeXKHbI

3 90007-0620-A1 Bont M6x20 6 10 | 90502-0818-00 LWrnoT 8x18 2
4 90408-7010210-0000 | Laiba 1 11 | 90007-0612-A1 Bont 6x12 1

5 90682-2030210-0000 | CanbHuK Bana perynatopa 1 12 | 15040-Z350120-0000 Pasbpbi3ruBatenb macna 1
6 90501-2010110-0000 WnanHT 1 13 | 15010-Z240120-SNDO | LLlyn macnsHblii 1
7 16061-Z350110-00A0 | Ban perynstopa o6opoToB 1 14




LramMpPIoN

Power & force MANOCTPMPOBaHHbIM KaTasor 3anacHbIX YacTen Mogenb: G110VK/1
7
4
4 '
. o
\.
No ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 13300-2350810-0000 KoneHsan 1 4 13200-Z2350110-00A0 Konbuo nopwHesoe 1
60x1,2 Mm KOMNAEKT
2 13010-2350110-00A0 LWaTyH 1 5 13122-7350110-00A0 Konbuo ctonopHoe nanbua 2
3 13111-2350120-0000KIT | MopweHb 60x44 1 6 13121-7350110-00A0 Manew, nopwHa 1

KOMNNEKT




LramMpPIoN
Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G110VK/1

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80
1 14200-2350120-00A0 | PacnpepBan 1 11 14311-2350120-0000 | Kopombicno KnanaHa 2
2 14216-2350110-00A0 | Ocb pacnpegBana 1 12 97002-Z020110-00A0 | BonT KpenseHMA KOpombICaa 2
3 14341-7350120-00A0 | Pbiyar Tonkatens 2 13 12112-7350110-00A0 | Cyxapb KnanaHa 2
4 14216-2350110-00A0 | Ocb pblyaros 1 14 12103-2350110-0000 | MpyxmnHa knanaHa 2
5 14071-Z2350120-00A0 | TonkaTens (WTaHra) KnanaHa 2 15 12121-7350130-0000 | BbinyckHoM KnanaH 1
6 14330-2350110-00A0 | Ocb KOpombicna 1 16 A5RTC CBeya 3aXkuraHms 1
7 90007-0512-A1 Bont M5x12 4 17 12111-Z350120-0000 | BnyckHoW KnanaH 1
8 12411-7350110-00A0 | KpbiwKa KnanaHoB 1 18 12101-Z350110-00A0 | MacnocbemHbli KONavyoK 1
9 12004-2350110-0000 MpoKNaaKa KpbIWKKX KNanaHoB 1 19 12110-2350120-00A0 | KomnaeKT KnanaHoB 1
10 | 97002-Z020110-00A0 | ratika 2




LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G110VK/1

Ne ApTUKYA HavmeHoBsaHue K-so Ne ApTUKYA HanmeHoBsaHue K-80
1 28110-Z350120-Q200 | Koxyx maxoBMKa 1 5 90305-0500-31 Maika M5 3
2 28001-7350120-00A0 | WnunbKa KpenaeHua KOXKyxa 2 6 80001-72350120-Q200 KpblwKa gsuratena 1
3 28001-Z350220-00A0 | LUnunabKa KpenieHMa KoXyxa 1 7 90001-0514-01 bont M5x14 3
4 28200-Z350110-Q200 | Craptep B cbope 1 8




LramMpPIoN
Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G110VK/1

-

~

Ne ApTUKyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-so

1 16004-2350110-00A0 MpoKknaaka nog 1 8 90007-0625-A1 bont 1
TenJiou3onATop

2 16003-2350110-00A0 | Tennousonatop 1 9 17100-2350510-00D1 | Kopnyc ¢punbTpa KOMNAEKT 1

3 16001-2350110-00A0 MpoKknazKa nog KapbtopaTtop 1 10 17151-7350210-0000 MpepBapuTensHbln GUALTP 1

4 16100-2350410-00A0 | Kapb6topaTop 1 11 17151-2350110-0000 OcHoBHOM PpUAbTP 1

5 17001-2350120-00A0 MpoKnagka noa Kopnyc 1 12 16210-2250120-0030 Konnauek npanmepa 1
dunbtpa

6 16561-2350410-0000 MnactuHa 1 13 90305-0500-31 Maka M5 1

7 90204-7350110-00A0 | WnunbKa 2




LramMpPIoN

Power & force

Mﬂﬂl-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: G110VK/1

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-so
1 90204-2350210-00A0 | WnwnnbKa 2 4 18130-2350110-QB00 | Koxyx rnywwntens 1
2 18001-2350210-0000 MpoKnagka raywmtena 1 5 90310-0600-31 Maiika M6 2
3 18100-2350110-0000

Fnywurtens




LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G110VK/1

) :

Ne ApTUKYN HanmeHoBaHue K-8o Ne ApTUKYN HanmeHoBaHue K-s0
1 170870094-0001 KpblwKa TonnmeHoro 6aka 1 6 28001-7350310-0000 | Wnunbka 1
2 16620-Z2350120-Q200 | Bak TON/AMBHbIN 1 7 170010017-0001 ®unbTp TONAMBHBIN 1
3 90683-2030420-0000 | Btynka 1 8 90685-Z030110-0000 | XomyT wnaHra 1
4 90007-0645-A3 Bont M6x45 1 9 | 90686-2350210-0000 | LLUnaHr TONAUBHBIN 1
5 90305-0600-31 Faika M6 1 10 | 90740-Z010210-0000 | XomyT WwnaHra 1




LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: G110VK/1

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80
1 | 13501-Z010110-0000 | laitka maxoBuKa 1 4 30400-Z350210-0000 | MarHeTo 1
2 13510-2350110-0000 | MaxoBuK 1 5 30423-7350110-0000 | MpoBoA HU3KOBO/BTHbLIN 1

3 | 90001-0520-01 Bont M5x20 1




LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G110VK/1

7

~\

>
Ne Ne K-Bo
ApTUKyn HanmeHoBaHue K-Bo ApTukyn HanmeHoBaHue
1 | 45200-Z350130-0000 | KpoHwTeiiH pblyara 1 5 16063-Z2350410-00A0 | Mpy*KnHa pblyara 1
perynaropa

2 | 90305-0600-31 [alika M6 1 6 16012-2350210-00A0 | Mpy*KnHa TATK perynatopa 1
3 16072-2010110-0000 | bont 1 7 16062-2350110-00A0 | Tara pblyara perynstopa 1
4 | 16070-Z350210-00A0 | Pobiuar perynatopa o6opoToB 1 8




